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q—!ﬂﬁﬁ e 1x5=5

Objective Type Questions

1. 98 IO & 997 HM -

Choose the correct answer :

(@

(ii)

AY-103

&7 Hemell & ofur 4:5:6 81 R I A 45 A
HeA Bt

(®) 12,1518

(ﬂ} 18, 15,12

(@) 15,18,12

® 10,17,18

Three numbers are in the ratio of 4:5:6 If their sum

is 45, then the numbers are.

(a 12,15,18

(b) 18,15,12

(c) 15,18,12

(d 10, 17,18 http://www.onlinebu.com

IR x+y=8 TN x—y=2 A WA yH 79 &

(®) 5
@ 3
(®) 4
® o

(@)
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If x+y=8 and x- y =2 than, value of y will be :

(a) 5
(b) 3
€ 4
(d 0
(ili) oTgE (AB) TR B
(@) AB
@ (@A)
(@ BA’
(¥ AB
Matrix (AB) is equal to :
(a) AB'
(b) (BA)
(c) BA'
(d AB
(iv) 1.9820 % SR W & -
(a1) 9594
) 959.4
(@) 95.94
(@ 9.594
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Antilog of 1.9820 is :

(a) 9594

(b)y 9594

(c) 9594

(d) 9.594
lﬂﬂﬁoﬁa@tﬂ'ﬂ’:ﬁfgﬂﬁoiiaﬁﬂ@m%:

(ar) 10% @™
@) 11%%&1’-‘1

| 10% @M
@ %eM

If an article purchased for Rs. 100 is sold at Rs. 90.

itis:
(a) 10° profit
1
11=%
(b) 9 Loss

(c) 10% Loss
(d) 9% Loss
qg - Fq
SECTION - 'B’
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g walg 9 5x2=10 population at the beginning be 55000 find the populatio
Short Answer Type Questions at the end of third year.
g - |1 s - 1l
Unit -1 Unit - I
2. T @ €W witer ¥ @ 3023 g and et #e 3 Prer e 2 e R @ o SR
A 3P A i & F s 2 T B e 24 2x4y=12, 3x-y=13

: - Solve the following equations by elimination method.
F W o B ARk ™ 7 dmow Rew am 2:1 2 @ @ £cq
2.‘!’."!'.].?:]2,| 3_‘[‘-—}.’:13

= F AW AT A & | = =
£ S | - STA/OR
Z Ram and Rahim are partners sharing profits and losses in z = N ¥ 7
é the ratio of 3:2. The decided to admit dexid as a parter é § w ’
2 , 2 9 What do you mean by invoice ?
%‘ and give him 3 share of profit. If new ratio between Ram ‘:'_é § & - I
o and Rahim is to be 2:1 find the profit sharing ratio of = a Unit - I
o
= partners. http://www.onlinebu.com = 3 A= 753 B 1 4 2
Aqa/OR 4. 32 0[5 5 (| W 445 @0
Rl reX B e a9 a8t 9% TR 8% aitE dad @ A-B % " & ToF it
B o wow ¥ EEn 55000 8 & AWt o & o § IfA=?53 gl 42
: 32 0|andZ= 7 3 1| calculate the values
TAEEAT qd12Y |
: of and 4.
The population of a city incrreases 8% annually. If the A+8 A-B
AY-103 (5) P.T.O. AY-103
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SFEOR
A8 B THT FAET
Discuss the types of matrices.
T - IV
Unit - [V
. 5.3685 H 91 | FMC
Find the values of 5.3685
HYGI/OR
T A 21 aF 2017 @ 2000 $o I Frar A I a9 18
FFET B R A 3 9 Ay F w0 9 2100 So =
# T qARA |
Suresh took a loan of Rs. 2000 on 21* April 2017 and he
paid amount of Rs. 2100 on 18" October of the same year.
Find the rate of interest.
=g -V
Unit-V

6. &0mH Aeg @ ofor ARTT a IE O & O SR

Define Harmonic mean and its merits.
g/ OR
Frfafra omafy aferr @ @ A o9 IR
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swx 1 2 3 4 5 6 7 8 9
sgfe 2 60 101 152 705 115 79 40 1
Calculate the arithmetic mean from the following frequenc,

table :
Size 1 2 3 4 5 6 7 8 ¢
Frequency 2 60 101 152 205 115 79 40 |
e - ‘q
SECTION - 'C'
& sadg v
Long Answer Type Questions
o - 1
Unit - 1

Sx5=25

7. AR F O B QO W S0 53 AT ST g

Differentiate between ratio and proportion after explain-
ing the in detail. http://www.onlinebu.com

HGF/OR
W W H 30% B IR B IR AR B dem 30% &
A @ & o X oivee aRE a1 5 el ¢
Due to 30% increase in railway fare, the number of pas-

sengers is reduced by 30% Find the percentage increase a3
decrease in income,
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@ - 1
Unit - 1]

8. T Wi A o v 3 7 e Rwad g |
What do you understand by simultaneous equaltion ? Give
its essential features.

A9q1/OR
W= A ) e R @ ew ity

5
2+3y=82_10y =56
x X

Solve the following equation by elimination method.

5
2+3y=82_10y =56
X X

T - 11

Unit - I1I
e 0 2 7 30 FR-wR Rl R on s 7
What is matrix ? How it is arranged ?

HYF/OR
M 4+C=5 @ CH 99 T H &

y 14—53_947
120 6| |-82 -1

AY-103 (9)

e

http://www.onlinebu.com

P.T.O.

WO NGIUIUO” Mman/:diy

WO ngauuo sy diy

http://www.onlinebu.com

If Find the value of C Where :

1 4 -5 9 4 7]
A: ‘Bz

20 6 82 -1

=g - IV

Unit - IV

10. TRGRE S & T T GWER & 7 RO AN AT HEIRE
W & A9 AR P e H )
What do you understand by compound interest ?
Distinguish between simple and compound interest.
HIET/OR
1500 So # 5 aftera oftvas & aT | 3 aut & wgfs == 4
B g Ry g s At
Calculate the compound interest and the amount of Rs.
1500 at 5% per annum for 3 years by formula method.
™E -V
Unit -V
11. af% Felt @] B 11480 & For mar @ @ 20% 57 @ Ay
%mﬁa‘ﬁa'{gﬂ?GEoﬁaﬂTﬁmﬁW[BlﬁﬂﬂHﬁ?ﬁ
T Fifg |
Ifa commodity is sold for Rs. 114, the profit is 20%. If the
commodity is sold for Rs. 90, Find two percentage profit
or loss.
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FYI/OR
TR O ottt et ¥ afprorey e ) ToET AR
T 1-6 7-12 13-18 19-24

R o8 7 5 10

Calculate arithmetic mean inclusive and exclusive class
intervels

Class -6 7-12 13-18 19-24
Frequency : 8 7 5 10
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